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What is the potential temperature
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Find the LCL and LFC
Shade in the area representing CAPE
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Where is the tropopause?
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Find the LCL and LFC
Shade in the area representing CAPE

100 3ps2q | "
OO 85K R
“‘" Y " Vi o SELY TEE.O

250 AT / g leF$W D1-1314

OO ARRKRS ]

/] \,‘ LFTV -1.62

200 &g‘t; 4y w’%fr"*@‘w A e
’ CTOT 18.70
A’A%""A%‘Qf‘ 4 § VTOT 3070

' ' - TOTL 4340

w0 e RN
VAW 2\ y S CINE  -14.3

CINY  -B.57

~ ivavs vza R S
000 j% LFCT 634.9
” A
700 7 A \?{ OUT 2798
800 77 > LCLP 7245
A, MLTH 306.5

900 e MLMR 8.47
e i THCK 5715

PWAT 2645

-40 -30 -20 -10 0 10 20 30 40

00Z 23 Aug 2011

University of Wyoming



71112 WSE Edmonton Stony Plain

If a surface parcel were lifted moist
adiabatically to the 500 hPa level, then

100 gp480m returned (dry) adiabatically to 700 hPa,
‘ ‘ "0 ‘ ‘ ) what would its final temperature be?
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Find the LCL and LFC
Shade in the area representing CAPE
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